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2015
iSm : 3 hours
Full Marks : 80
: Om:Q\Qmﬂmm.mB BQS.%Q to Q.,,\m their m:ms.\ma in
their own words as far as practicable.
The m.@::wm. in the margin SQ\.omNm full marks.
. \S.ms,\m» from voS %m Groups as directed.

- Group - A .
~ (Objective Type Questions)
Answer all questions of the following : ,

1. Choose the correct answer of the following :
. .~ 2x10=20

(@) The use of _,\_mnm@mama >omoc:m:m is :
() Compulsory .
(i) Obligatory
(jii) Optional , i
(b) Which of the following is the 30,: current
asset ? ,
(i) Goodwill
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(d)

(e)

(f)

(i) BR _

(i) P. P. Expenses

(iv) D.mgo_,.m

_u,carmm_m of goodwill by issue of debenture
is : ,
(i) Application of Funds

(ii) - Source of Fund

(iii) .No flow of Fund

_Y:Qmmmm in share E__m:,__\c3 is ;

(i) mocqom of cash

(i) Application of cash o
(jif) None of these - . |
Period cost are :

(i) O<m3mmn oowﬁ_m,

(i) Prime costs -

(ii) Variable costs

(iv) Fixed costs

Indirect materials are

() A prime cost

(ii) A fixed cost
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(9)

(h)

. (iii) <m:m_o_m.o<m3mma variance

0

MF - 8/6 (3)

(iii) An irrelevant cost

(iv) A factory overhead cost

Fixed cost per c:; increases when :

(i) Production increases

(i) Production decreases

(i) Variable cost per unit decreases

(iv) Prime cost per unit amoqmmmmm : ,
Normal wastage is properly o_mwmsma as :
(i) An extra ordinary item

(i) Period cost ‘

(iii) _uaacoﬁ cost

(v) Deferred charge

Cost variance includes m:.ccﬁ one of the
wo__o,\s:@ b , |

(i). Direct Bmﬁ.mzm_ <m1m:o_m

(i) Direct labour variance

(iv) Sales variance

Short-term financial vo,m:mol will improve
with :
(i) Increase in Current Assets
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(i) Increase in Current Em_om_:,v\
(iii) Decrease in Current Asséts

(iv) None of these

O_.o_.__o -B

:.o:m-m:mém_. ._.<_om O:mmﬂ_osmv

>:m<<m_w m:< four questions of the following : 15%4 = @o

. . What is Cost >oooc3_:@ ? Io<< n_omm it a_mmﬁ
from Financial >80c3_:@ ? .

- <<:m.ﬁ is inventory oo:=o_ ’ mxn_m_: ;m tech-
:_ncmm ‘

Define budgetary control and state its objectives.
<<:& ;‘m_qm the uses of \mam,x-gm: Analysis ?

What is _,\_m:mom_sm:ﬁ >ococ:::m ? U.mocmm its

;o :mmaw in BoamS age.

ToB the *o__os::m _io_,Bm:o: Emvm_.m a Cost
Sheet : ,

| \ 2
Raw Materials purchased 32,250
Carriage on purchase = 850
Direct wages o 18,450

‘MF—86 S ot

‘of accounts.

‘ g
<<o_‘xmo<m.}mma o L2750

Selling overhead _\ ; v “km_n;mo
. Office o<m5mma - | 1,850
Sales e . . 75,000
Sales of Factory mmB,v, o 0 20p
, Onm:im_ Stock of Finised gaeds! = G750
Closing Stock of Finised goods 11,100

-The oomﬁ books of m:: mms for the year moK.
, m:oé a profit of ¥ 50, mmm The profit a_mn_omma by
his financial books i is'¥ 31,200. The ﬁo__os\_:@

information is gathered through the observation

(a) _,u‘m<3.m3 for Income Tax was 15,000 in

- Financial Accounts. | _

(b) Bad debts m30c36a to 4 2 ,000 in 33m:o_m_ .
,‘uooxm L

(c) Factory o<m5mma in Cost >oooc2m was .
< 15,000 while the actual overhead was
Tio985 "

(d) Transfer ,«mm,,_,manmaSm,m < 1,200.
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(e) T1,000was vma for directors fees.

() Plant nom,ﬁm:@ 4 mowooow was installed but not

yet used. Omv_,mo_m:o: @ So\o was

o:m_.@ma

-~ You are _,mnc:ma 8 prepare a mﬁmﬁmBm:ﬁ

ﬂmoo:o___zm cost accounts profit with an of

m:m:omm_ moooc:ﬁm.

9. From the *ozos__:@ _:ﬂo::m:o: om_oc_mﬁm fund
- from o_um_.mﬁ_o:m .

Net Loss Nm.ooo

" Depreciation on Plant 40,000
 Amortisation of Goodwill 4,000

Loss o:, sale of ESWEE _ ‘ ,m_oo.o :
Profit on sale of Land 8,500
mu_ﬁosmmo: for ._mma Debts ; 4,500
Salaries including O/S , m_ooo
Provision for ‘._.m.xmzoA: .‘ 1,000

. Provision for Legal Damages 2,000
Commission 500
 Refund for Tax 2,500
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Om_oc_mﬂm B.E.P. 303 Em ﬁo__os\_:m information

‘and ascertain the Bm_@_: of safety :

" Fixed costs for the year o

Variable cost per unit A

_Salesfortheyear - . .- 2,00,000

Selling price per unit - , o mo
o3
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